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industries: 1. (Straightness):
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Line Element

Each longitudinal element of the surface must lie
between two parallel lines separated by the amount of
the specified straightness tolerance and in a plane that
contains the axis of the feature.



(Circularity):
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Vision 3. (Flatness):
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" Translation: The entire surface seen as : '13
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What you get for free with Flatness: \_, '_, M
Surface Straightness & 9P

FHEEFRXBTELE




SVISIOH 3_1
B o T 3 A1 B2 W CAD

(Flatness):

+
+
+




S\hsmn 3 2
B ¥he B 3 A1 R 2 A )
s EHRIEHFLE ' z=Ax+By+C

e RLB| - HIESEA BB AEA AF1= A_z_z_’:- f)é-:_c‘i'z

AR EAR T EREP F foky -
n (Ax+ By + C—z)?

F1=Zg=1 A2+ Bﬂ 1 o (AX"' By + C_ z)2

MBI FA-B-Czg: F1 _2=U ATRmT

A A
. (Ax+ By + C—2)?

B
(Ax+ By + C—z)?

Fl_Zer AnpmY

C C
s P &mE AKX | F= maxAF—minAF

Fl_Zer ALERT

0

0

0



® Inductries 4. (Perpendicularity):
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(Parallelism):
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O 5on .. 6. (Position):
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(Concentricity):
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s o 8. (Symmetry
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. . . . . _— 6] Calculate th tral line f th di int of the dist , and th lculate the straight f central line.
[4] Calculate intersections between each perpendicular line and the polyline of the subjective element Sk b O XBAREA 5 it o i it e s i
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